Aufgabe 1 : [AB] || [AB] %% Fiir die MaBzahlen gilt -
Z

X 14
50 36
14
& = — - 50
7 36
4 4
& =19 — L =1{19-
. 9 {193}
y 14
42 36
= 14 42
X = — -
5 36
1 1
& =16 — L = {16 —
x =16 165}
Aufgabe 2 : [AB] || [A'B] Kbﬁfm
5 Fur die MaBzahlen gilt :
R x+5 24 12
12 16
LE \ 24LE & x + 5 =18]-5

& x =13 L={13}

(x + 5)|LE p o y+ 2 B 2_4 6
6 16
Sy +2=9]-2

B sy =7 L={7}
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Aufgabe3:  [AB]II[AB] <y
Fur die MaBzahlen gilt :
X 6 .15

15 10

.. Fur die MaBzahlen gilt :
Aufgabe 4. [ABJII[AB] <Nmw o 15  x43
— | 12 -9

C 12 9
& 9-(x +5)= 12+ (x+3)
< Ox+45 = 12x+ 36

<:> x =3 L={3}

9 LE
A J—
(y+2)LE  ZA
yLE o AAI
y+2 6
T = - /-3
y 3 | y



